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Ums: Jlata: _ Ouenka:
2% —x— D(x+7) (% + 3x+3)(9x + 8)
(x— 2)(3x — 6) (7x— D — 9x— 9)
(5x+ 2)(3x — 4) (2x— 5)(* —x— 1)
(7% + 3)(3x — 2) (4x + 8)(6x + 6)
(2x — 4)(x — 6) (6x + 5)(4x* + Tx+ 7)
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Nwms: Jara: Onenka:
(2% — x—1)(x+7) (x* + 3x+ 3)(9x + 8)
262+ 1332 —8x— 7 O + 35x% + 51x+ 24
(x— 2)(3x — 6) (7x— 1)(x* = 9x— 9)
3% — 12x+ 12 7 — 64x% — 54x+ 9
(5x + 2)(3x — 4) 2x— 5> —x— 1)

15x> — 14x— 8 2 — T +3x+ 5
(7% + 3)(3x - 2) (4x + 8)(6x + 6)
21%° — 142 + 9x — 6 24x% + T2x + 48
(2x — 4)(x — 6) (6x+ 5)(4x” + Tx + 7)
2% — 16x + 24 24x3 + 62x% + T7x + 35
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